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Question 1. If two apparently different Boolean expressions have the same truth table, then they are said to be equivalent. In any Boolean calculation an expression can be replaced by an equivalent expression without changing the value produced by the calculation. Show that NOT(A OR B) is equivalent to NOT(A) AND NOT(B).
Question 2. The following truth table specifies the Boolean operation XOR (exclusive or):
	A
	B
	A XOR B

	0
	0
	0

	1
	0
	1

	0
	1
	1

	1
	1
	0


Use AND, OR and NOT as appropriate to construct a Boolean expression equivalent to XOR. Use the result of question 1 to construct a Boolean expression equivalent to XOR and using only the two Boolean operations AND and NOT.

Question 3. Add the hexadecimal numbers A7 and B9. Subtract the hexadecimal number A from the hexadecimal number 11. Multiply the hexadecimal numbers A4 and 12.
Question 4. The three bit patterns 10000010, 01101000 and 00000010 are representations of the same value in two’s complement, excess and the Brookshire floating point format, but not necessarily in that order. What is the common value and which pattern is in which notation? (Brookshear and Brylow, Chapter 1 Review Problems number 43.)
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